gobooboobouobuoboboob: bgobouobboon

O000 (ooooooooooo (PD))

H

Oo00(@O: CT,MRI,000,000)000000000 300 (resp. 200)00
O00000000000,000000000000000000000 (resp. ODODO)
goooobogob. DbodbbOd0noisy OO, 000000000000DO0O
gobobodg,0bobdggbobobooobboboo. bbb, nosydddboogg
0000000 (smoothing operation) 0000000, 00000000000000O
O000000000000000000000000 (shape preservation). 000, 20
gogooodbobooobuobooboboo,gbooboboobobuoboobo
googogoo.

goobg,oooobobobooboboboboobobob,bo0bobo
goboob.oboobooboobooboooob.

0d
XOnO000O0O0O0000 MO0 EudidDO R 0000000:
X:M"— R

0000000 -0000000,0000¢=(g;)000000000.
ox DR 000000 (characteristic function) 0, 00 0000000O:

1 if r € Ext(X),
ox(x)=¢0 ifzrelX, (1)
-1 if z € Int(X),

Ext(X) (resp. Int(X)) 0 XOOOODOOOO (resp. 00O0DO0)000.
xO {—1,0,1} 00 2000 (binary function):

W=D =1, x(0)=x(1)=0 2)
ooo.
{e2},50 XO0ODOODOODO:
ou
. = Au on X X (0, oo), U|t:0 = Uo,

O000,AQ0 X OO Laplace-BeltramiO OO O OO .
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ooooo (Xo,9)OODODODOO, Xo,00ODOODODOOO XOOOOOOoOooo
EX;Xy)O0Ooooo:

B(X; Xy) = /

X

n

G(|€(eTAHO)|2)dA+KVR x(ox axo)dx] " (3)

n+1
ooo,
e V; the gradient operator on Xo, and |Vu|*> = Y g¢ D;uDju,

A:; the Laplace-Beltrami operator on Xp,

e Hj; the mean curvature on X,

dA = /|g|dE" ... dE™; the area element on X, where |g| = det(g;;),

G/(s); a nonincreasing, positive, smooth function on [0, 00) with G(0) = 1,

7, K; positive parameters.
EX;Xy)0ODO20(00000)0

dist(X, Xo) := /

Rn+l

X(ox ox,) dx = / dx

{ox oxy=—1}
O0000,000000000,YeCP(X)0XO0ODOOOOooooo NOOOO

n
n+1

O00. 0000000, E(X;Xy) O Euler-Lagrange 0 0 000 O L2000 (gradient
flow)OOODDDO0OODODODODO0O0OO0OOODOOOODOOOOOOOO:

CX(1) =[GV Ho)P) H + Kdist(X, Xo) /o5, | N, (4)

oon, ok, U0ox, DU OOO0OOUOO. UOOOOO0OO0O, 000000000
000000 Xo00O0O,(4)0000000000000OD000,000000D000O
(multi-scale method).

dsn (dist (X, Xo)™/ D) =

dist(X, Xo) "/ (D) / b ox, dA
X

HEN

0000 X(0)=X,000000000 4)000oooooooooooooooo
oooo
X:[0,T)x M™ 5 R™,  X(t) == X(M" x {t})

0000000000 (@Woooon).

0O00: X, O R 000000000000 C* 0 (0<a<1)000. 0000,
0000 T >00000,0000 X(0)=X,000000 (4000000000
X ={X(t);0<t<T}O CHe/22te(0, T x M) 0OO000000000000. OO0
0¢>00 X(t)0 c~0000.



